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The Picture Tells the (Linear) Story T
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Answer the questions for cach Fumily of equations,

¥=x

i
o
&N

¢ How are the lines the sume?

+ What is diffesent sbowt the Tinas?

¢ Where docs each line cross the y-axis?

+ What happens to the graph when a constant is addad y=x7

+ Write an equation for a line similar to those above but crosses 1he y-axis at 5.

+ Write an equition for g line similar to those above bul crosses the y-uxis al -2.

y=x

+ How are the hines alike?

+ How arc the fines different?

The Picture Tells the (Linear) Story

+ Doscribe the differences in the geaphs.

¢ Which line appears the steepest?

+ What makes the differcnes?

B-40




The Picture Tells the (Linear) Story

|

T Ty

¥ =-X
+ [low are the lines different”
+ Which line appears the sleepest?
+ What makes the difference?

V.

FE |

-

+ Where does each of the following cross the y-axis?

¢ Which line is steepest and why.
y=2x+7

y=-x+11

y=1x-8

4 Wliere does cach of the following cross the y-axis?

+ Which line is steepest and why.
¥y=Xx+8

¢ Where does each of the following cross the y-axis?

+ Which line is steepest and why,
y=-x+8§

y=-2x+5

— i,
y=-ix

+ IFa lincar equation can be written in the form p= mx + b, where m and b represent any real values,

explain the effect of m on (he graph of the equation,

¢ Explain the eifect of b on the graph.
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Find the y-intercept of each line.

1- 20
ok

7 0

LEll3]

o
s

A

A Y

Find the slope and y-intercept of the graph
of each equation.

3.y="5c+8 4.y=-2x+1
S.y=x—4 6.y = 03x—2.5
7.y:—3x_ 8.y=ix+%
9.y=2—x 10. y =2

11. Which equation in iterns 3—10 has the
steepest graph? the flattest graph?

12, Which equations in items 3—10 have
graphs that slant upwards from left to
right?

Write the equation of a line with the
following slope and y-intercept:-

13. slope 7, y-intercept (0, —9)
14, slope —4, y-intercept (0, 1)
15. slope 4.5, y-intercept (0, 0)
16. slope —6, y-intercept (0, - 1)

306 FAMILY PORTRAITS o HOMEWORK 5

‘e o
!

Equation?
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s
nk

Find the slope and y-intercept of the graph
of each equation.

17.2y = 4x + 6
19. y=5(x+1)

In items 21-23, use the equations below.
A y=4x+ 2
C.y=—2x+4

i8.x+y=7
20.y—2x=4

B.y=%x—3

21. Use the slope and y-intercept to graph
each equation. Label the lines A, B,
and C.

22. Write an equation whose graph crosses
the y-axis at a lower point than all of the
given lines.

23. Write an equation whose graph crosses
the y~axis at a higher point than Line A
and that is steeper than all three graphs.

24. Fahrenheit and Celsius are different
temperature scales. The equation
F=1.8C + 32 describes the relationship
between Fahrenheit and Celsius.

a, What is the slope of the graph of this
equation? How much does the
Pahrenheit temperature increase when
the Celsius temperature increases by
1°? by 2°? How do you know?

b. What is the y-intercept of the graph?
What is the Fahrenheit temperature
when the Celsius temperature is 0%
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What D

id the Ape Think of the Grape’s House?

For each exercise, draw the line indicated and write its equation. Find your answer in the

answer section and notice the two letters next to it. Print these letters in the two boxes at the

bottom of the page that contain the number of that exercise.

Fl v /
11/ < 4 o=
D /B T
&— 2 2
| J] IN
; ol / x] ‘ REH
—4 |[-2 /2 | 4 —4 |=2 2 | 4
E
€5 / -2
& &—
- A & P - -4 Q
[ G M
M A gﬂ
5)0()@ /

Equation of A8
@ Equation of CB
@ Equation of DE

Equation of G

@ Equation of L

Equation of NS
@ Equation of ﬁ

: Equation of ﬁ@

@ Equation of Hi

@ Equation of.jf('> |

Answers:

10

H i
* i
\Vu _—;

ALGEBRA WITH PIZZAZZ!
1 54 © Creative Publicatiofs

OBJECTIVE 5-i: To find an equation of a line 7 %
given two points on the line {using the graph). [/_)



Graphing Equations Notes

Example: Graphy =2x-4
1. Identify the slope and y-intercept:

Slope 1085 = T
y-intercept: - |

2. Graph the y-intercept on the
coordinate plane.

3. Next, count the slope (change in y over the change in x)
from the y-intercept and place a second point.

4. Use the slope again to plot at least one other point.

5. Draw a line through the points.

You Try:

1.Graphy=—%x+2 2.Graphy=3x-1

o e B R

TR B o e
UL

[ L A A M S B B B

%




Date: Period:

Graphing in Slope-Intercept Form

T [ P—

- biswhere he ne ntrsecisthe - s
Directions: Write each linear equation in slope-intercept form and then graph it.
1 : 1
._.Sum.. b={0,-4) N.BMIM b=(0,3)
Equation: Equation:
Graph: : & Graph: 5
 EEREEN IEEER
3 m==3 b=(@,6) 2
N 4. m= 3 )
Equation: " b=(0,-3) ;
Graph: Equation: *
LI Graph: »

e

5.m=-1 b=(0,4) . m==2 b=(0,0) ./
Equation: Equation:
Graph: P Graph: 5
" , e i
. 1 8. Graph ¥y =2x-4
7. Graph ¥ = Mx+m
m= b=
m= b=
I EEEXP kil 4
10. Graph ¥ = —x+1
9. Graph Hﬂlmuln ph Y
2 m= b=
m= b=
51
' W F -
% X & . 1




Whom Should You See at the Bank
If You Need To Borrow Money?

N
*/ Use the slope and y-intercept to graph each equation below. The graph, if extended, will cross
a letter. Print this letter in each box that contains the number of that exercise.
_2 1, __3
@y»—3x+1 @y—zx 3 @y— X +2
VA yA VA
(0]
K . - A
X
.l . ol
X X
L T
¥ E A Y
U B S
(@) y=2x-4 () y=-3x-1 ® y=-2x+3
Iz 7 ) 7}
P |
_ o I
S X
() A
M ) X )
vV | X
F
L Y
N G H
1
®y=4x—2 y=—Zx+2 @y=§x
¥ Y4 Yt
C R D
_ X i o
S X
" >
I
M
¥ ¥ Y
L S A
o 3 6 2 7 1 9 4 9 8 8 9 4 5 2 8

ALGEBRA WITH PIZZAZZ!
OBJECTIVE 5-j: To graph a line given its equation in slope-intercept form. © Creative Publications 155 @




Name; Date:

Math 8: HW #6 — Slope-Intercept Form

Writing Linear Equations

y=mx+b (m stands for slope and b stands for y-intercept)

1. y=6x+3 slope y-intercept
2, y=-5x~4 slope , y-intercept
3. y=7-9x slope y-intercept
4, y=-13x slope y-intercept
5.y=8 slope y-intercept

6. Given slope of -2 and the y-intercept is -6.

7. Given slope of % and the y-intercept is -1.

8. Given m=-8and b=11.

9. Given m=0and b=-5.

10. Given m=—11and the y-intercept is (0, 13).

11. Given slope of g and 5=0
Graphing Equations:
12. Graph: y=3x—4 5 |, 13. Graph: y=§x—1

o~

O



14,  Graph: y=-2x+4 15.  Graph: y = —%x
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16.  Sarah’s cell phone plan costs $50 per month. Her plan does not include text messaging,
which is an additional 15 cents per text message.
A. Write an equation to represent the total cost C of Sarah’s cell phone plan per
month. Use ¢ to represent the number of text messages.

B. If Sarah sends and receives a total of 90 text messages during October, how much
will Sarah’s cell phone plan cost that month? SHOW ALI WORK.

C. Suppose Sarah paid $59 for her cell phone bill. How many total text messages
did she send and receive? Show all work.

17. Which sltuation is best represented by the graph below?

the height of a child from age ten to fifteen
the volume of a balloon as it Is being filled with air

the amount of gasoline in a car's tank during a five-hour trip

DN ®

the volume of water in a swimming pool! as it is being filled

2




Student Name:

Find Equation of Straight Line

Find equation of straight line from the given slope and y-intercept:

y-intercept

Equation of straight line

Free Math Worksheets @ http://www.mathworksheets4kids.com




Finding Equations of Lines

Find the equation of the line given the following information.

Slope and y-intercept:
1. m =3, point (0, 7) 2.m= %,point ©, 1) 3.m= % point (0, -3)
4 . ' .
4. m= —5, point (0, -12) 5. m= 2.1, point (0, 3.5) 6. m = -5.9, point (0, -25.9)

Slope and point - non y-intercept:
7.m = -4, point (1, 3) 8. m= m%,point (-4,-1) 9.m=-§-,p0int (5,2)
1 . . .

10.m= —6~,p01nt (8,-3) I1.m =7, point (2, 11) 12.m= -é«,pomt (3,4)

Two points: ' ‘

13. (1, 5) and (-2, -4) 14. (-3, -1) and (0, -2) 15.(11, 14) and 14, 12) E
|
i

16. (2, 7) and (3, 10) 17. (-5, 4) and (-6, 0) 18. (2, 5) and (6, 6)
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Model Problem 1)
What is the equation for the line that passes through the points (3, 4) and (5,8)?

l. Calcwlate Blope
25

A—A

2. P\\,x3 Slope Trito (15: RV
3. P\“5 a chn X wwlb

e U Shrd

L‘\ . So \ve —?o C b. 5. Qew r'{‘\'e Qqu&'\‘ton w | S\OP\?- 1 3-m)&rccpt.
Model Problem 2}
What is an equation for the line that passes through the coordinates (4,5) and (8, 3)?

Model Problem 3)
What is the equation for the line that passes through the coordinates (1,2) and (5, 10) 7
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Practice Problems

1) What is an equation for the line that passes through the coordinates (2,7) and (0, 1)?

2) What is an equation for the line that passes through the coordinates (2,0) and (0,3) ?

3) What is an equation for the line that passes through the coordinates (-1,2) and (7,6) 7
4) Find the equation of the line that passes through the points (1,1) and (3,5)?

5) Find the equation of the line that passes through the points (1,3} and (2,4) ?




\l\[mjﬂh% qu)ﬂénﬁs Cuen ZponB

6) Find the equation of the line that passes through the points (2, 6) and (-2, 4) ?

7) Find the equation of a line that passes through the points (2, 16) and (-1, 7).

8) Find the equation of a line that passes through the points (2,13) and (1,8)

9) Find the equation of a line that passes through the points (4, 3) and (8,1)

Challenge Questions

10) Find the equation of a line that passes through the points (2, 5) and (2, 12).

11} Find the equation of a line that passes through the points (5, 3) and (2, 3).




NAME: _ _ . DATE: Period:

Unit 11- Study guide
Write the following formulas or equations.

1. Slope (when given 2 pts):

2. Slope-Intercept Form:

Determine the slope of the line that passes through each pair of points.

5. (2,5)and(3,6) 6. (3,-5)and(4,3) 7. (1, 10)and(-3,-4) 8. (4, 1)and (-4, 1)

Write the equation of the line in slope intercept form passing through the given point and
having the given slope. '

9, (3,1);m=% 10. (0,9); m=2 11. (-6,-2); m=-1/3 12. (1,-3);m=-1

Write the equation of the line in slope intercept form passing through each pair of points.

13. {-1,-7)and (1, 3) 14. (5, 3) and {-4, 3)

Determine whether the following points lie on the line y=3x+ 1

14. (-5, -14) s (0,1) 16. (2,10)

17, Find a point on the line y =2x -5




Graph the following equations.

19.y=-%‘-x-,

y=4x-7

18.
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